Cooling fan location

124 [4.88]

(4) Mounting Holes
= for M5 [#10] Screws. ‘ 228 [8.98]
N|  29[1.14] 66 [2.60] 29[1.14] See Detail Afortop
=) b= o mounting hole dimensions. J 410.16]
Te] MTG DIM |
©
! A
. ir i §
= B S @6 [00.24]
il = N
- } 2 :
= = 4
Keypad 8 Nameplate
65 [2.56] 1<) R 1
) § H Q
(‘() . |0
S @2 49[1.93] ‘ @12 [20.47]
= = 3 | f
~ g J Q- Detail A
0 2" ] e | Top mounting hole dimensions
Main : : Scale 1:1
Switch = =
f@ = Center of Gravity
= Note: Dimensions shown
q are measured from the
o bottom left mounting hole o o
—
§ E 3.2[0.13]
=3 102 [4.02] Air
{o]
Moo 93 [3.66]
218 [8.58]
30.5[1.20] 30.5[1.20]
_ 252.5[9.94]
Lo —
€ = p
(2)-022 [20.87] A g
° ° N <
Note: (3) Rubber bushings =@
(Included) must be attached as C/C: INPUT VOLTAGE WEIGHT | COOLING
shown during installation. - o [F = HV60o 3-PHASE (VAC) | Kg (Ib) FANS
(3)-028 [21.10] s ] FOTOM o
; 4005000 10.0 (22.0) 0
ya—— ® 4008000 10.0 (22.0) 1
Entry Plate 4011000 380 TO 480 10.0 (22.0) 1
4014 10.0 (22.0) 1
251[0.98] 251[0.98] e
DRWN. | J. MATTAS 4-9-21 TITLE
@' C‘ CHKD. | J. PIOTROWSKI 5-17-21 HVB00 DIMENSION DRAWING S A |PAGE 1OF3 JREV
= — FRAME SIZE 1 DWG.NO.

YASKAWA UNITS MM [IN] | TECH. |L. UDDIN 5-25-21 IP55/UL TYPE 12 ENCLOSURE DDHV6OFR1 T1 2SW 0 |

SCALE 1:8 |APRV. |J. CAIRO 5-28-21 WITH MAIN SWITCH




Refer to DD.HV60.CONTROLBOARD

Base Point of drawing for control board details

Control Board

[EMC FILTER SWITCHES|
Main Terminals
with M4 Screws; EMC SW1 EMC SW2
Slotted (-)
I
Note: The - and +1 (=1 on
terminals are not used ‘l M A
=gy
i EMCY/2 (,},
‘EW@ 14
EMC Filter ‘ EMC Filter N j_ OFF
Switch 1 i &= @ Switch 2 OFH =~
See Detail A N - See Detail B Detail A Detail B
o Scale 1:2 Scale 1:2
Sl =1 i
@Q©
} Mo ] Grounding Terminals
Ogl_[o o] RO with M5 Screws
Main Terminals
with M3.5 Screws; cic: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
Pozidriv (#2) HV600 SYMBOL AWG (mm) SCREW N.m. (Ib.in.)
2011000 RIL1, SIL2, TIL3 14-8 (2.5-10) M3.5 0.8(7)
2017000 UIT1, VIT2, WIT3 14-8(2.5-10) M4 1.5-1.7 (13.5-15)
4005000 ® 14-8(2.5-10) M5 2.0-25(17.7-22.1)
4008000
4011000
4014000

o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.

DRWN. | J. MATTAS 4921 |TITLE
i @ = HV600 DIMENSION DRAWING ~ [S'4E A |PAGE 20F3 |REV
YAS'(AwA CHKD. |J. PIOTROWSKI |5-17-21 FRAME SIZE 1 SWENG. .
UNITS MM [IN] | TECH. |L. UDDIN 5-25-21 | |p55/UL TYPE 12 ENCLOSURE
SCALE 1:4 |APRV. |J.CAIRO 5-28-21 WITH MAIN SWITCH DD.HV60.FR1.T12.SW



E

F

Minimum Installation Clearances

~
S
3
. A
= Air 5 Air ==
5 _ [
7 o
S
30 [1.18] 30 [1.18]
R i = o
=
<)
O @]
O @] _
F— — N~
I | 2
N —
N~ o
i Yol
- S N
N
Air =z~ < == Air
V /]
DRWN. | J. MATTAS 4-921 [TITLE
@ =] CHKD. |J. PIOTROWSKI | 5-17-21 HV600 DIMENSION DRAWING ~ [225 A |PAGE SOFS |REV
YAS'(AWA UNITS MM [IN] TECH. | UDDIN 5'25'21 FRAME SIZE 1 DWG.NO. 0
- |L -25- IP55/UL TYPE 12 ENCLOSURE |
SCALE 1:6 |APRV. [J. CAIRO 5-28-21 WITH MAIN SWITCH DD.HV60.FR1.T12.SW




	Sheets and Views
	DD.HV60.FR1.T12.SW-PAGE 1
	DD.HV60.FR1.T12.SW-PAGE 2
	DD.HV60.FR1.T12.SW-PAGE 3


